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Question Number : 1 Question Id : 899514671 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The report of the National Knowledge Commission is called as

(A) NKC report
(B) Libraries are the pillars
(C) Libraries as a gateway of knowledge
(D) None of these
Options :
8995142661. 1
8995142662. 2

8995142663. 3
8995142664. 4

Question Number : 2 Question Id : 899514672 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which of the following factor should be considered in choosing eBooks over
Print books?

(A) Currency

(B) Cost

(C) Needs

(D) All of the above
Options :
8995142665. 1
8995142666. 2

8995142667. 3
8995142668. 4

Question Number : 3 Question Id : 899514673 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
DOAB indexes open access

(A) Books

(B) Journals

(C) Theses

(D) None of these
Options :
8995142669. 1
8995142670. 2

8995142671. 3
8995142672. 4

Question Number : 4 Question Id : 899514674 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

CeRAisa

(A) Library Consortium
(B) Library Management Tools
(C) Library Genesis
(D) Library Administrator
Options :
8995142673. 1
8995142674. 2

8995142675. 3
8995142676. 4

Question Number : 5 Question Id : 899514675 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
NAAC stands for

(A) National Accreditation and Authority Council

(B) Northern Accreditation and Authorities Committee
(C) National Assessment and Accreditation Council
(D) Northern Assessment and Accreditation Council

Options :

8995142677. 1
8995142678. 2
8995142679. 3
8995142680. 4
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Question Number : 6 Question Id : 899514676 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Shibboleth is a free/open source software and authorization tool that is
based on:

(A) Hypertext Markup Language
(B) Extensible Markup Language
(C) Standard Generalized Markup Language
(D) Security Assertion Markup Language
Options :
8995142681. 1
8995142682. 2

8995142683. 3
8995142684. 4

Question Number : 7 Question Id : 899514677 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Academia and ResearchGate are

(A) Reference management tools
(B) Academic social networking sites
(C) Crowdfunding sites
(D) Open-source softwares
Options :
8995142685. 1

8995142686. 2
8995142687. 3
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8995142688. 4

Question Number : 8 Question Id : 899514678 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

COPE stands for

(A) Committee on Publication Ethics

(B) Committee of Publishers of England

(C) Committee of Professional Engineers

(D) Committee of Professional English Authors

Options :

8995142689. 1
8995142690. 2
8995142691. 3
8995142692. 4

Question Number : 9 Question Id : 899514679 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following is an open access data repository?

(A) CKAN

(B) Figshare

(C) DMPTool

(D) None of the above
Options :

8995142693. 1
8995142694. 2
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8995142695. 3
8995142696. 4

Question Number : 10 Question Id : 899514680 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How many levels of error correction in a QR code exist to restore the data?

(A) Two
(B) Three
(C) Four
(D) Five
Options :
8995142697. 1
8995142698. 2

8995142699. 3
8995142700. 4

Question Number : 11 Question Id : 899514681 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Who is the developer of ‘Wik1’?

(A) Peter Suber

(B) Tim O'Reilly

(C) Ward Cunningham
(D) None of Above

Options :
8995142701. 1
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8995142702. 2
8995142703. 3
8995142704. 4

Question Number : 12 Question Id : 899514682 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Link+ (Link Plus) is a free service for:

(A) Interlibrary Loan
(B) Discovery Service
(C) Directory Service
(D) Reference Service

Options :

8995142705. 1

8995142706. 2

8995142707. 3
8995142708. 4

Question Number : 13 Question Id : 899514683 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The code comprises a series of bars and spaces arranged according to a set of
rules is known as:

(A) Quick Response Code
(B) Barcode

(C) Micro QR Code

(D) Frame QR code
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Options :
8995142709. 1
8995142710. 2
8995142711.3
8995142712. 4

Question Number : 14 Question Id : 899514684 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
SERU stands for

(A) Subscription to Electronic Resource Understanding
(B) Statics of Electronic Resource Understanding
(C) Shared Electronic Resource Understanding
(D) Sharing of Electronic Resource Union
Options :
8995142713. 1
8995142714. 2

8995142715.3
8995142716. 4

Question Number : 15 Question Id : 899514685 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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1s a popular bookmarking service.

(A) del.icio.us
(B) cel.ibid.us
(C) LibraryCrunch
(D) Netcipia
Options :
8995142717. 1
8995142718. 2

8995142719. 3
8995142720. 4

Question Number : 16 Question Id : 899514686 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is/was NOT an academic search engine/database?

(A) getCITED
(B) Spock
(C) HighWire Press

(D) Intute

Options :

8995142721. 1
8995142722.2
8995142723. 3
8995142724. 4

Question Number : 17 Question Id : 899514687 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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As per David W. Lewis, what is the second assumption about libraries?

(A) Libraries are a means, not the end
(B) Real change requires real change
(C) Funds availability to libraries/institutions are limited
(D) Disruptive technologies are disrupting libraries
Options :
8995142725. 1
8995142726. 2

8995142727. 3
8995142728. 4

Question Number : 18 Question Id : 899514688 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The main components of an RFID passive tag include:

(A) Transceiver and Decoder
(B) Microchip and Antenna
(C) Antenna and Server

(D) None of the above

Options :

8995142729. 1
8995142730. 2
8995142731. 3
8995142732. 4

Question Number : 19 Question Id : 899514689 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

Which of the following valuable purposes can be served by Makerspaces?

(A) Promoting creative problem solving opportunities
(B) Offering experiential learning opportunities
(C) Facilitating prototype creation for entrepreneurs and inventors
(D) All of the above
Options :
8995142733. 1
8995142734. 2

8995142735. 3
8995142736. 4

Question Number : 20 Question Id : 899514690 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
PPTP and L2TP are

(A) Dynamic Host Configuration Protocol
(B) Tunneling Protocol

(C) Simple Mail Transfer Protocol

(D) Routing Information Protocol

Options :

8995142737. 1
8995142738.2
8995142739. 3
8995142740. 4

Question Number : 21 Question Id : 899514691 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

The e-book reader ‘Nook’ is developed by:

(A) Barnes & Noble
(B) Amazon
(C) Sony
(D) Infibeam
Options :
8995142741. 1
8995142742. 2

8995142743. 3
8995142744. 4

Question Number : 22 Question Id : 899514692 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Portable Shelf Scanner is a/an

(A) Manual device
(B) Output device
(C) Storage device
(D) Input device

Options :

8995142745. 1

8995142746. 2

8995142747. 3
8995142748. 4
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Question Number : 23 Question Id : 899514693 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Growth path in digital inclusion includes:

(A) Access to open knowledge

(B) Strengthen digital literacy in communities
(C) Empowering technologies

(D) All of the above

Options :

8995142749. 1
8995142750. 2
8995142751. 3
8995142752. 4

Question Number : 24 Question Id : 899514694 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is/are the project(s) and program(s) relating to INFLIBNET?

(A) IRINS
(B) VIDWAN
(C) e-PG Pathshala
(D) All of the above
Options :
8995142753. 1
8995142754. 2

8995142755. 3
8995142756. 4
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Question Number : 25 Question Id : 899514695 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In IoT protocol stacks, which one is NOT included in the application layer?

(A) CoAP
(B) CBOR
(C) XMPP
(D) AMQP
Options :
8995142757. 1
8995142758. 2

8995142759. 3
8995142760. 4

Question Number : 26 Question Id : 899514696 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who pioneered the development of the box plot?

(A) Mary Eleanor Spear
(B) Jacques Bertin

(C) Florence Nightingale
(D) Edward Tufte

Options :

8995142761. 1
8995142762. 2
8995142763. 3
8995142764. 4
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Question Number : 27 Question Id : 899514697 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
APA stands for

(A) American Psychological Association
(B) American Political Association
(C) Asian Political Association
(D) Asian Psychological Association
Options :
8995142765. 1
8995142766. 2

8995142767. 3
8995142768. 4

Question Number : 28 Question Id : 899514698 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Climate Models and Economic Models are examples of:

(A) Experimental Data
(B) Simulation Data
(C) Canonical Data
(D) Observational Data
Options :
8995142769. 1

8995142770. 2
8995142771. 3

16/56



9/16/2020
8995142772. 4

Question Number : 29 Question Id : 899514699 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
NADA and Hubzero are

(A) Data License Software
(B) Data Processing Tools
(C) Research Data Repository Software
(D) None of the above
Options :
8995142773. 1
8995142774. 2

8995142775. 3
8995142776. 4

Question Number : 30 Question Id : 899514700 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In 2001, industry analyst Doug Laney defined big data consists of three
dimensions. These are Volume, Variety, and

(A) Value

(B) Verity

(C) Veracity

(D) Velocity
Options :
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8995142777. 1
8995142778. 2
8995142779. 3
8995142780. 4

Question Number : 31 Question Id : 899514701 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

JSTOR is an online system for:

(A) Archiving and Accessing Academic Journals
(B) Archiving and Accessing Biographical Works
(C) Archiving and Accessing Reference Books

(D) None of the above

Options :

8995142781. 1
8995142782.2
8995142783.3
8995142784. 4

Question Number : 32 Question Id : 899514702 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The impact factor was devised by:

(A) Alan Pritchard

(B) Jorge E. Hirsch

(C) Eugene Garfield

(D) Derek de Solla Price
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Options :
8995142785. 1
8995142786. 2
8995142787. 3
8995142788. 4

Question Number : 33 Question Id : 899514703 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
EPSRC stands for

(A) Engineering and Physical Sciences Resource Centre
(B) Engineering and Physical Sciences Research Council
(C) Ecology and Physical Sciences Research Council
(D) Ecology and Physical Sciences Resource Centre

Options :

8995142789. 1

8995142790. 2

8995142791. 3
8995142792. 4

Question Number : 34 Question Id : 899514704 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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When did John McCarthy coin the term Artificial Intelligence’?

(A) 1965
(B) 1956
(C) 1959
(D) 1995
Options :
8995142793. 1
8995142794. 2

8995142795. 3
8995142796. 4

Question Number : 35 Question Id : 899514705 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

PLONEisa

(A) Content Management System
(B) Digital Library Software
(C) Federated Search Engine
(D) None of the above
Options :
8995142797. 1
8995142798. 2

8995142799. 3
8995142800. 4

Question Number : 36 Question Id : 899514706 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

Which one of the creative common licenses 1s considered for commercial use?

(A) BY-NC-ND
(B) BY-NC-SA
(C) BY-NC
(D) BY-ND
Options :
8995142801. 1
8995142802. 2

8995142803. 3
8995142804. 4

Question Number : 37 Question Id : 899514707 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Business Analytics/Business Intelligence (BI) is a broad set of applications,
technologies, and processes for:

(A) Analyzing
(B) Accessing
(C) Both (A) and (B)
(D) Neither (A) Nor (B)
Options :
8995142805. 1
8995142806. 2

8995142807. 3
8995142808. 4
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Question Number : 38 Question Id : 899514708 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Two major characteristics of open source software licenses are

(A) Free copyright & free distribution
(B) Open and no IPR
(C) Free distribution and open source code
(D) Free license and no IPR
Options :
8995142809. 1
8995142810. 2

8995142811. 3
8995142812. 4

Question Number : 39 Question Id : 899514709 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

EULA stands for

(A) E-monitoring Library for Academics

(B) End-User License Agreement

(C) End-User Logistics Association

(D) Electronic Usage of Library Acquisitions
Options :
8995142813. 1
8995142814. 2

8995142815.3
8995142816. 4
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Question Number : 40 Question Id : 899514710 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is Prolog?

(A) Low-level programming language
(B) Logic Programming Language
(C) All of the above

(D) None of the above

Options :

8995142817. 1
8995142818.2
8995142819. 3
8995142820. 4

Question Number : 41 Question Id : 899514711 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Bethesda's statement on open access publishing took place in the year?

(A) 2003
(B) 2002
(C) 2001
(D) 2004
Options :
8995142821. 1
8995142822.2
8995142823.3

8995142824. 4
23/56
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Question Number : 42 Question Id : 899514712 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is Apache Tomcat used for?

(A) Web Server

(B) Database Management Software
(C) Build Automation Tool

(D) Operating System

Options :

8995142825. 1
8995142826. 2
8995142827. 3
8995142828. 4

Question Number : 43 Question Id : 899514713 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The word ‘streaming’ in media streaming server means:

(A) Playback starts once the complete file is downloaded
(B) Playback starts as rest of the data is still being received
(C) Playback starts immediately on click of video link
(D) Playback commence once video file is downloaded and the audio file
is still being received
Options :

8995142829. 1
8995142830. 2
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8995142831. 3
8995142832. 4

Question Number : 44 Question Id : 899514714 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

XSLT Stands for

(A) eXtensible Stylesheet Linguistic Transformations
(B) eXtensible Spreadsheet Language Transformations
(C) eXtensible Stylesheet Language Transformations
(D) eXtensible Spreadsheet Linguistic Transformations

Options :

8995142833. 1

8995142834. 2

8995142835.3
8995142836. 4

Question Number : 45 Question Id : 899514715 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Expert system can be used for which of the following library services?

(A) Reference Service
(B) Cataloguing

(C) Both (A) and (B)
(D) Neither (A) nor (B)

Options :
8995142837. 1
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8995142838. 2
8995142839. 3
8995142840. 4

Question Number : 46 Question Id : 899514716 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one is the major retrieval protocol used by Federated Search?

(A) Z39.50 protocol
(B) File Transfer Protocol (FTP)
(C) Simple Mail Transfer Protocol (SMTP)

(D) None of the above

Options :

8995142841. 1
8995142842.2
8995142843. 3
8995142844. 4

Question Number : 47 Question Id : 899514717 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT related to an important aspect of the Al
system?

(A) Knowledge Acquisition
(B) Knowledge Preservation
(C) Knowledge Representation
(D) None of the above

26/56
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Options :
8995142845. 1
8995142846. 2
8995142847. 3
8995142848. 4

Question Number : 48 Question Id : 899514718 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When was the first journal published?

(A) 1645
(B) 1655
(C) 1665
(D) 1675
Options :
8995142849. 1
8995142850. 2

8995142851. 3
8995142852. 4

Question Number : 49 Question Id : 899514719 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which one of the below is NOT a desired aspect to incorporate the architectural
framework of IoT?

(A) Scalability
(B) Flexibility
(C) Adaptability
(D) Rigidity

Options :

8995142853. 1

8995142854. 2

8995142855.3
8995142856. 4

Question Number : 50 Question Id : 899514720 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is the open-source electronic resource management
system?

(A) CORAL
(B) 360 Resource Manager
(C) ALMA
(D) EBSCO ERM Essentials
Options :
8995142857. 1
8995142858. 2

8995142859. 3
8995142860. 4

28/56
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Question Number : 51 Question Id : 899514721 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
UGC-CARE stands for

(A) University Grants Commission — Consortium of Academic and
Research Education.

(B) University Grants Commission — Committee on Academic and
Research Ethics

(C) University Grants Commission — Consortium for Academic and
Research Ethics

(D) University Grants Commission — Committee of Astronomy Review
Editors

Options :

8995142861. 1
8995142862. 2
8995142863. 3
8995142864. 4

Question Number : 52 Question Id : 899514722 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Transformation of traditional libraries to hybrid/digital libraries is known as:

(A) Crisis Management
(B) Change Management
(C) Project Management
(D) Re-Engineering

29/56
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Options :
8995142865. 1
8995142866. 2
8995142867. 3
8995142868. 4

Question Number : 53 Question Id : 899514723 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the bibliometric law describes the frequency of publications by the
author?

(A) Lotka’s law

(B) Zipf’s law

(C) Bradford’s law
(D) None of the above

Options :

8995142869. 1
8995142870. 2
8995142871. 3
8995142872. 4

Question Number : 54 Question Id : 899514724 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Synchronous learning is when:

(A) Learning takes place anytime, anywhere in the absence of a teacher
(B) A teacher and students are engaged in learning at the same time
(C) Learning is self-paced, student-centred and location-independent
(D) Learning that facilitates sharing of resources irrespective of time and
place

Options :

8995142873. 1

8995142874. 2

8995142875.3
8995142876. 4

Question Number : 55 Question Id : 899514725 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In xMOOC, ‘x’ stands for

(A) eXplore

(B) eXplosion
(C) eXplosive
(D) eXtended

Options :

8995142877. 1
8995142878. 2
8995142879. 3
8995142880. 4

Question Number : 56 Question Id : 899514726 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

Which of the following process is attaching additional information to various
concepts in a given text or any other content?

(A) Syntactic Annotation
(B) Semantic Annotation
(C) None of the above
(D) All of the above

Options :

8995142881. 1
8995142882. 2
8995142883. 3
8995142884. 4

Question Number : 57 Question Id : 899514727 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which year Kotler & Zaltman proposed a social marketing approach?

(A) 1971
(B) 1965
(C) 1957
(D) 1969
Options :
8995142885. 1
8995142886. 2

8995142887. 3
8995142888. 4
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Question Number : 58 Question Id : 899514728 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Peer review is/does

(A) A minor part of scientific communication

(B) Not enhance the quality of work

(C) Not involve time

(D) Done to uphold the quality and validity of the research

Options :

8995142889. 1
8995142890. 2
8995142891. 3
8995142892. 4

Question Number : 59 Question Id : 899514729 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Wikipedia is an example of:

(A) Crowdsourcing
(B) Crowdfunding
(C) Crowdvoting
(D) Both (A) and (B)

Options :

8995142893. 1
8995142894. 2
8995142895. 3
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8995142896. 4

Question Number : 60 Question Id : 899514730 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Scopus is a/an

(A) Numerical Database
(B) Abstracting and Citation Database
(C) Full-Text Database
(D) Referral Database
Options :
8995142897. 1
8995142898 2

8995142899. 3
8995142900. 4

Question Number : 61 Question Id : 899514731 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Intellectual Property Right (IPR) is a protection given for:

(A) Copyright
(B) Patent
(C) Trademark

(D) All of the above
Options :
8995142901. 1
8995142902. 2
8995142903. 3
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8995142904. 4

Question Number : 62 Question Id : 899514732 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one of the following is the Semantic Library Project?

(A) NDLTD
(B) NPTEL
(C) JeromeDL
(D) NDBIAC

Options :

8995142905. 1
8995142906. 2
8995142907. 3
8995142908. 4

Question Number : 63 Question Id : 899514733 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The large volumes of high velocity, complex and variable data are termed as:

(A) Big data

(B) Linked data

(C) Semantic data

(D) Ontology-based data
Options :
8995142909. 1

8995142910. 2
8995142911. 3
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8995142912. 4

Question Number : 64 Question Id : 899514734 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following HTML tags is used to mark the beginning of the
paragraph?

(A) <td>
(B) <p>
(C) <br>
(D) <tr>

Options :

8995142913. 1
8995142914. 2
8995142915. 3
8995142916. 4

Question Number : 65 Question Id : 899514735 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following permissions is NOT related to Open Licensing?

(A) Retain

(B) Revise

(C) Revoke

(D) Redistribute

Options :
8995142917. 1
8995142918.2
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8995142919. 3
8995142920. 4

Question Number : 66 Question Id : 899514736 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is/are the main barrier(s) in using the Open Educational Resources
(OER)?

(A) Lack of time

(B) Lack of awareness

(C) Low internet connectivity
(D) All of the above

Options :

8995142921. 1
8995142922.2
8995142923. 3
8995142924. 4

Question Number : 67 Question Id : 899514737 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Indian Research Information Network System (IRINS) is developed by

(A) AICTE
(B) IIT Delhi
(C) IIT Indore

(D) INFLIBNET Centre
Options :
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8995142925. 1
8995142926. 2
8995142927. 3
8995142928. 4

Question Number : 68 Question Id : 899514738 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the name of the system that gives relevant suggestions to the end-users
while searching on some platforms like YouTube, Amazon, etc.?

(A) Clustering System

(B) Recommendation System
(C) Autocorrect System

(D) Autocomplete System

Options :

8995142929. 1
8995142930. 2
8995142931. 3
8995142932. 4

Question Number : 69 Question Id : 899514739 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Pipl and peekyou are

(A) Academic Search Engines
(B) Semantic Search Tools
(C) People Search Engine

(D) Scientific Search Engines

Options :

8995142933. 1
8995142934. 2
8995142935.3
8995142936. 4

Question Number : 70 Question Id : 899514740 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SECI stands for

(A) Socialization, Externalization, Combination, and Internalization
(B) Socialization, Expectation, Combination, and Internalization
(C) Socialization, Externalization, Continuation, and Internalization
(D) Socialization, Expectation, Continuation, and Internalization

Options :

8995142937. 1
8995142938.2
8995142939. 3
8995142940. 4

Question Number : 71 Question Id : 899514741 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 1 Wrong Marks : 0

A QR code is readable from any direction in:

(A) 180 degrees
(B) 360 degrees
(C) 90 degrees
(D) 270 degrees
Options :
8995142941. 1
8995142942, 2

8995142943. 3
8995142944. 4

Question Number : 72 Question Id : 899514742 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Scribd 1s a/an

(A) Email client

(B) Blog

(C) Chat server

(D) File sharing repository
Options :
8995142945. 1
8995142946, 2

8995142947. 3
8995142948. 4

Question Number : 73 Question Id : 899514743 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following crowdsourcing platform is exclusively meant for
fundraising?

(A) Kickstarter

(B) Amazon MTurk
(C) 99designs

(D) Freelancer

Options :

8995142949. 1
8995142950. 2
8995142951. 3
8995142952. 4

Question Number : 74 Question Id : 899514744 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one of the following databases is published by EBSCO?

(A) Web of Knowledge
(B) Academic Search Premier
(C) Aerospace & High Technology Database
(D) Scopus
Options :
8995142953. 1
8995142954. 2

8995142955. 3
8995142956. 4
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Question Number : 75 Question Id : 899514745 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What does LSP stand for?

(A) Library Services Provider
(B) Library Software Provider
(C) Library Serials Provider

(D) Library Services Platform

Options :

8995142957. 1
8995142958. 2
8995142959. 3
8995142960. 4

Question Number : 76 Question Id : 899514746 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In which model of eBook acquisition, records are available for consultation and
a purchase is triggered when an eBook is used multiple times or for a specific
time?

(A) Demand-Driven Acquisition
(B) Subscription

(C) Pay per view

(D) Pick and Choose

Options :
8995142961. 1
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8995142962. 2
8995142963. 3
8995142964. 4

Question Number : 77 Question Id : 899514747 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following key functions 1s NOT correct to make VPN
technologies secure?

(A) Authentication
(B) Access Control
(C) Data Incapacity
(D) Confidentiality

Options :

8995142965. 1

8995142966. 2

8995142967. 3
8995142968. 4

Question Number : 78 Question Id : 899514748 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Green Open Access

(A) Publishing in journals of environmental sciences
(B) Permits the researchers to put their manuscripts in open access
institutional repositories for others to use
(C) Requires the author to pay Article Processing Charge (APC)
(D) All of the above
Options :
8995142969. 1
8995142970. 2

8995142971. 3
8995142972. 4

Question Number : 79 Question Id : 899514749 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In IoT architecture, the logical components include:

(A) Security and Dependability Composition
(B) Time-Bound Composition
(C) Federated Orchestration
(D) All of the above
Options :
8995142973. 1
8995142974. 2

8995142975. 3
8995142976. 4

Question Number : 80 Question Id : 899514750 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
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Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

One petabyte (PB) equals to:

(A) 1000* bytes
(B) 10005 bytes
(C) 1000° bytes
(D) 10007 bytes

Options :

8995142977. 1
8995142978. 2
8995142979. 3
8995142980. 4

Question Number : 81 Question Id : 899514751 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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What is the bottom-up approach of Opportunities for Data Exchange (ODE)
data pyramid?

(A) Raw Data > Data Collection > Processed Data > Publication with
Data
(B) Data Collection > Raw Data > Processed Data > Publication with
Data
(C) Publication with Data > Processed Data > Data Collection > Raw
Data
(D) Processed Data > Publication with Data > Data Collection > Raw
Data
Options :
8995142981. 1
8995142982. 2

8995142983. 3
8995142984. 4

Question Number : 82 Question Id : 899514752 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
In Knowledge Management components, Technology is related to:
(A) K-Maps & Workflows
(B) Motivation Level & Sharing Intentions
(C) Data Mining & Analysis
(D) All of the above

Options :
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8995142985. 1
8995142986. 2
8995142987. 3
8995142988. 4

Question Number : 83 Question Id : 899514753 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following type of knowledge can be readily articulated, codified,
stored, and accessed?

(A) Explicit Knowledge
(B) Implicit Knowledge
(C) Tacit Knowledge

(D) All of the above

Options :

8995142989. 1
8995142990. 2
8995142991. 3
8995142992. 4

Question Number : 84 Question Id : 899514754 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Which one of the following institutes did NOT take part in the first phase of the
National Programme on Technology Enhanced Learning (NPTEL)?

(A) Indian Institute of Technology Delhi
(B) Indian Institute of Technology Bombay
(C) Indian Institute of Technology Guwahati
(D) Indian Institute of Technology Tirupati
Options :
8995142993. 1
8995142994. 2

8995142995. 3
8995142996. 4

Question Number : 85 Question Id : 899514755 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which search engine is commonly used to find, locate, and retrieve OER?

(A) Google
(B) Bing
(C) Yahoo!
(D) Baidu

Options :

8995142997. 1
8995142998. 2
8995142999. 3
8995143000. 4
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Question Number : 86 Question Id : 899514756 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Find out the disadvantage of Artificial Intelligence.

(A) Discovers unexplored things
(B) Lack of human touch

(C) Function is infinite

(D) All of the above

Options :

8995143001. 1
8995143002. 2
8995143003. 3
8995143004. 4

Question Number : 87 Question Id : 899514757 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Predatory journals

(A) Publish articles on a wide range of subjects
(B) Do not have proper editorial boards

(C) Do not have any preservation policy

(D) All of the above

Options :

8995143005. 1
8995143006. 2
8995143007. 3
8995143008. 4
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Question Number : 88 Question Id : 899514758 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
EndNote X9 and Citavi are

(A) Data Preprocessing Software
(B) Ontology Building Software
(C) Reference Management Software

(D) All of the above

Options :

8995143009. 1
8995143010. 2
8995143011. 3
8995143012. 4

Question Number : 89 Question Id : 899514759 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the appropriate response to the deliberate act of plagiarism by a
researcher/academician?

(A) A disgrace to both individual and institution
(B) To make one learn about referencing
(C) None of the above
(D) All of the above
Options :
8995143013. 1

8995143014. 2
8995143015. 3
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8995143016. 4

Question Number : 90 Question Id : 899514760 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who coined the term ‘Informetrics’?

(A) Vassily V. Nalimov and Z.M Mulchenko
(B) Blackert, Siegal and Nacke
(C) Almind and Ingwerson
(D) Alan Pritchard
Options :
8995143017. 1
8995143018. 2

8995143019. 3
8995143020. 4

Question Number : 91 Question Id : 899514761 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Organizational and Geographic Network are included in:

(A) Co-Word Network
(B) Co-Citation Network
(C) Co-Author Network
(D) None of the above
Options :
8995143021. 1

8995143022. 2
8995143023. 3
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8995143024. 4

Question Number : 92 Question Id : 899514762 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following services offer researchers for monitoring all types
of feedback about their scientific work?

(A) PaperCritic
(B) PLoS
(C) ReaderMeter
(D) ImpactStory
Options :
8995143025. 1
8995143026. 2

8995143027. 3
8995143028. 4

Question Number : 93 Question Id : 899514763 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Scitation and PubFocus are

(A) General Search Engines and Databases
(B) Custom Search Engines

(C) Collaborative Information and Databases
(D) Scientific Search Engines and Databases

Options :
8995143029. 1
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8995143030. 2
8995143031. 3
8995143032. 4

Question Number : 94 Question Id : 899514764 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which statutory body established the National Board of Accreditation (NBA)?

(A) UGC
(B) AICTE
(C) NLC
(D) NIRF
Options :
8995143033. 1
8995143034. 2

8995143035. 3
8995143036. 4

Question Number : 95 Question Id : 899514765 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Who enunciated Library 2.0 term?

(A) Michael Gorman
(B) Dale Dougherty

(C) Thomas Vander Wal
(D) Michael Casey

Options :
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8995143037. 1
8995143038. 2
8995143039. 3
8995143040. 4

Question Number : 96 Question Id : 899514766 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which source is used to see the journal impact factor?

(A) J-Gate
(B) JSTOR
(C) Project Muse
(D) JCR
Options :
8995143041. 1
8995143042 2

8995143043. 3
8995143044. 4

Question Number : 97 Question Id : 899514767 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Modern Blog is evolved from:

(A) Facebook
(B) LinkedIn
(C) Personal online diary
(D) Forum
Options :
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8995143045. 1
8995143046. 2
8995143047. 3
8995143048. 4

Question Number : 98 Question Id : 899514768 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following university developed the ‘LOCKSS’ project?

(A) Loughborough University
(B) Stanford University
(C) Cornell University
(D) University of Nottingham
Options :
8995143049. 1
8995143050. 2

8995143051. 3
8995143052. 4

Question Number : 99 Question Id : 899514769 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one of the following is a Database Management System?
(A) LISP
(B) NetLogo
(C) Python
(D) Cassandra
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Options :
8995143053. 1
8995143054. 2
8995143055. 3
8995143056. 4

Question Number : 100 Question Id : 899514770 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Personal Wisdom is a kind of knowledge.

(A) Implicit

(B) Explicit

(C) Tacit

(D) All of the above
Options :
8995143057. 1
8995143058. 2

8995143059. 3
8995143060. 4
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